[(FR#EDYHI1]

DB  NERETEEELNH L WVEEFHAICONT, BOHFIZITS,
SWAEZ: RAPDAH

RHEEH
FHEA GERD 5 {E{K DNA$ & FH 2,000 x 5 = 10,000 (M)
RHEEM
TS54<—%HL
XaR7E L XakHEE A 10, 000 (F9)
XERIZT 4 7 —1EHmHY PCRATSAT—ERER(1R7) 5,000 (F9)
RAPD %> #f7 5 &1k 755X b ER 80, 000 (M)
=1 105, 000 (M)
[(EREFEDYHI2]

DB  EVEREDEGEEZMT L. BIEMOBEERDEEZITI.
DWAE AV BY T34 bR

R
B GRS 20@H DNAHS 128 2,000 x 20 = 40,000 (F3)
REER
TS5A4<3—%L
k% L XHAEER 10,000 (F9)
XBRIZ TS 4 < —1E8H% L 754 v BB 10,000 (F3)
= I Y —ATSAT—BREGBRT)
20,000 x 3 = 60,000 (F)
V)47 b AT 2048 1% IS5 AV CIER 80, 000 ()
@E—%Z) 15HRfkSBNEE 10,000 x 15 = 150,000 ()
=kl 350, 000 (M)



